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" MATHEMATICS

YEAR 9

5.3 (Advanced) COURSE, 2007

ASSESSMENT TASK 3

Time allowed - 55 MINUTES

MARKING:

There are 4 sections in this asseéssment:

Section 1;
Section 2:
Section 3:

Section 4:

" Number: 9 marks .

Algebra: 25 marks
Measurement: 6 marks

Geometry: 5 marks

TOTAL: 45 marks"
INSTRUCTIONS
. Attempt ALL questions - .
. Answers are to be written in the space provided
* ° Approved calculators may be used
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Section 1 NUMBER Surds: 9 Marks
Ques.1. Write down all of the irrational numbers: \/Z,\}144,2\/144, NG ,\/5

Ques.2. Arrange these numbers in ascending order: 7, 2 ,2.1,v12

Ques.3. Simplify fully:
@)72

(b) 348

©) \/?5_(2\/-3_ - \[5_) %\
|

Ques.4. Rationalise the denominator and leave your answer in the simplest surd form:

w1/
35 //

(b

1 1
.{._
)2—\/5 2+\/§

END OF SECTION 1 NUMBER“E
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Section 2 ALGEBRA: 25 Marks
Indices

Ques.1. Simplify fully the following indices:
(a) 3x* x 2x*

(b) 8(x*»)’

R ——

1t

@7
Y

\
(d) 5*(2x=-5)-2x° |

\
\

(&) 7p'q’ =35(p%q)* |

i

(

\

\

@ (57
X

1]

(1]

(1]
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Surds
Ques.2. Simplify fully:

(2) Ve(2x +3) |

\

4

i

®) 20p +2./p
© 6+ 25m =25,

@ Vx+yY
-

/

Factorisation of Algebraic Expressions:
Ques.3. Factorise fully:

(a) 16x*y - 9xy ;,’

(b) x* —8x+16

(1]

(1]

(1]

{2]

1]

(1]

PN
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(c) d* =36 ]7
!\
|
(d) 8x* -8
- : :
|
‘12
!

(e) 227 ~5x+2 |

!X
1

Ques.4. Simplify fully the following: (Show FULL working)
* (a)

xt-2x-24 j
x+4 |
| .
a .
!
\
|

8x+8  2x-2~

Xt -1 x2—2x+1

END OF SECTION 2 ALGEBRA
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NOT TO SCALE

(a) Find the area of the front face of the diagram. (Trapezium) ' (1]

(b) Find the volume of the trapezoidal prism (pool) in m*. [1]

(¢) During the summer months the water level dropped by 5 cm.
(1) What was the volume of water lost in m*? [1]

(ii) How many litres of water were lost? [1]
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J—

e——

A cylinder fits exactly into a cube with side lengths x .

How much space is left in the cube ?

Angswer in terms of 7.

(LI 5 5 RS B 58 ]

END OF SECTION 3 MEASUREMENT

[2]
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Section 4 GEOMETRY Co-ordinate Geometry: 5 Marks

Ques.1 For the points A (-3,-1) and B (-5,3) find:

{a) the co-ordinates of the midpoint AB.

(b) the gradient of AB.

(c) the distance between the points A and B

=
[
e

{1]

(1]

, 1
Ques.2. The gradient between two points (-3,2) and (3,m) is 5 unit. Find the value of “m”. [2]

END OF SECTION 4 GEOMETRY

o~
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YEAR 9
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ASSESSMENT TASK 3

Time allowed - 55 MINUTES
MARKING:

There are 4 sections in this asséssment:

Section 1: Number: 9 marks .
TSection 2: Algebra: 25 marks
Section 3: Measurement: 6 marks
Section 4: Geometry: 5 marks

TOTAL: 45 marks

INSTRUCTIONS
. Attempt ALL questions
. Answers are to be writteﬁ in the space provided
. * Approved calculators may be used
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Section 1 NUMBER Surds: 9 Marks

Ques.1. Write down all of the irrational numbers: \/4—, V144, 2x/144,2\/§ ,x/g [1]

als 1=
Ques.2. Arrange these numbers in ascending order: 75,\/—2— ,2.1,\/1—2 m

: . f T, Vi
JZ 5 A« 5 i
Ques.3. Simplify fully: —
@V72 = N2 [
SR CIES (1]
F — e
@ VBB = A =S 0
Ques.4. Rationalise the denominator and leave your answer in the simplest surd form:
57 sV3s
X == = —— 1]

v \/_ \F /3 PLiFY [

= e W UsT Sivm Lt )

- };—5—));“" ( (=Y - MARK

1 1
by L 0 (3] (
(PEN AT i uLS
S S B
e ey 2ul - S ~~ = -
L=~ {3 J 2-{c L +3
2+ V5" _2zvs 24VE 4= 2 =VET
4-5 # = = TEE ()
Ly G-
= 4 =3 - /,,,.»————————
e
= - L]L END OF SECTION 1 NUMBER = T 4‘
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Section 2 ALGEBRA: 25 Marks

Indices '

Ques.1. Simplify fully the following indices:

(a) 3x* x 2x* - (ol

§

(b) 8(x*»)° = 0X

-~ 3

it

(1]

[ , , 1

© & 25 o 3 [
. A

5"(_«

@ ¥Q2x-5)-22 = 2 x>~ b 55> (1]

(&) 7p'q° +35(p’q)° _ ' 2]

=(i)(;4—7 = A __ [2]

CAVsERS
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Surds
Ques.2. Simplify fully:
@ VE@VE+3) = 2 5 + 3¥oC 1]
® 20p+2Jp = j 20 1]
4 p

= ‘lf‘.g_,
© (m+2m=-203) =y~ 4y (1
(d) (2\/§+\/§;2 = x + [“";:j +j ~ @

Factorisation of Algebraic Expressions:
Ques.3. Factorise fully:

(a) 16x%y —9xy = a (/6 = "'b‘?) (1]

®) x* —8x+16 =3 < »4)@(.—‘1‘) (1]
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() d* =36 = (a{ + L_}(@( - @)

(d) 8x* -8 = § ( P I'B

> 8’()(%5(‘1‘”')

(&) 2x* =5x+2 = QL_DCX__a

Ques.4. Simplify fully the following: (Show FULL working)

iz Ge-e)(xte)

x+4 - QC"‘L'L)

= (-0

8x+8  2x-2 = y(;&-{-i? L 2(1.~l>

R R e 7 C fe—i
—2x+1 (;L,;D(qu (et (3_~1)
= =)
Ty —i 2~

= 4

END OF SECTION 2 ALGEBRA

[1]

2

[2]

2

(3]
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Section 3 Measurement (Practical Application): 6 Marks

Ques.1. A pool is built in the shape of a trapezoidal prism as shown.
25m

10m '}]
NOT TO SCALE

(a) Find the area of the front face of the diagram. (Trapezium) 1]
R AT

(b) Find the volume of the trapezoidal prism (pool) in m?. [1]
Vel = A h
= 7 Txa
= £7§ 2

(c) During the summer months the water level dropped by 5 cm.
(i) What was the volume of water lost in m*? [1]

vid lesk = 10 wa X280 K 000

o« /al“jprl/la

(if) How many litres of water were lost? m
poe of Lifires =125 g (s€o b
12 80¢ L
6
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A cylinder fits exactly into a cube with side lengths x .
How much space is left in the cube ? [2]
Answer in terms of 7.

\/18:”{ c"l_ Ct,vL’Js{'_ PREED i G A
- a3
2
Ul of tuf . = (T 1 L
oL dYC (_,‘_SL . )

Vel Loft = 58— %

END OF SECTION 3 MEASUREMENT
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Section 4 GEOMETRY Co-ordinate Geometry: 5 Marks

Ques.1 For the points A (-3,-1) and B (-5,3) find:
(a) the co-ordinates of the midpoint AB. ) [

ald Pedlt C‘}_“;T:(H ‘f_"‘})

= (-4, >

(b) the gradient of AB. . J 1]
seed, = 3=
Geed, T

=

= -~ 2

(c) the distance between the points A and B [
oleet =" (53 (2~ "

R
¢ () @)
oS T A
=~ § 46
= 20
= 28 e’ 47

1 .
Ques.2. The gradient between two points (-3,2) and (3,m) is -2— unit. Find the value of “m”. [2]

9227,
. = fragtay
J L M=
.
A o a2
5 = -

2 a2

END OF SECTION 4 GEOMETRY




